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y; | 0.012 | 0.121 | -0.0194 | -0.0183 | -0.032 | -0.037 | 0.196 | 0.077 | 0.343 | 0.448 | 0.434

gboogboobooboobuooboobooboobobbooboobo
goobobbbbbouoooooobobbbbbouooooobbbobboogo
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gobogooobooboobbuooboobbooboobboobooobbon
gbobooobooboboobbooobboooboooboobbooboon
gboooboooboobooboobo

000 ao i as as ooo0oo0 AIC
00 | 0.138573 3.23417 -2.46835
00 |-0.0852364 | 0.447618 8.50008 | -11.00017
00 | 0.0602566 | -0.522335 | 0.969953 13.37498 | -18.74997
00 | 0.078849 | -0.817746 | 1.74463 | -0.516453 | 13.53748 | -17.07496
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0.2

0.2 0.4 0.6 0.8 1

3.5.4 ARUOOOO AIC

AROO0ODODOODOODO0OODOODODOODOOODOODODOObObOODbDODO
gogobobbobbouooooobbbbbboouooooobboboboogd
gooboboodd xy,ze,...,z, UOODDUOOO0OODOOOOOO

Ty = AQTy—1+ @Ty_9- -+ ApTi_m (90)
= Z AT i—m (91)
i=1
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n 1 n m
(a1, az, ... 7am>02) = —§log(27r02) T 952 § (xt - E ai%&—i) (92)
t

i=1
googoobooobDb o, 0000000000000 0OOODODOO0O0O0d
gogbbbuoobobboooobobobuoooobbobuooooboo

ol ol oL ol

A el iy (53)
gooooooogoooogg
c(1,1) C(1,2) C(1,3) --- C(1,m) a C(1,0)
C(2,1) C(2,2) C(2,3) --- C(2,m) as B C(2,0) (04)
C(m,1) C(m,2) C(m,3) --- C(m,m)] lam C(m,0)
gopooggoogogo C(i,j)DDD
C(i,j) = th—ixt—j (95)
=1

0000000000000000000000 620000000000000
ggn

52— %Z <xt - Zaixt_i> = ni (C(O, 0) — Z&iC(i, 0)) (96)
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Y =101 + Q%2 - - + AT (97)
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00000000000000000000000000 a; (i=1,2,...,m) 0

goooo
gogbbobuooobbbuoooobbbuoooobbboogoon

2
n 1 n m
l(a'h agy ..., Qm, 02) = _5 10g(27T02) - T‘_Q Z <yl — Qo — Z a’]x]l> (98)
j=1

=1

gobbouoooobbodao

ol ol ol ol
| 99
da;  Oay oa,, 0o? (99)
000000oooDnooonoon
n qu szi mez a Zyz

(100)

ZIM ZDC%Z leix% leixmi Qo lejyi

Q>

O0o00000o0o0o0o000o00 Yy oooo Yy, 0000000000000
000000000000000000000000 6200000000000

goood
5% = % {ny —aoZyi —Zajzl'jiyz} (101)
j=1

gogboobooogoon

A oA ~ " n n n
l(al,ag,...,am,a2):—E—ElogUQ—ﬁ (102)
D00O00D0DO AICOO
n(log 27 + 1) + nlog 6% + 2(m + 2) (103)
0000
0000
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